Auction Title:158-20	Bid Rfq
Basketball Uniforms	Num:32179
and Equipment	

*Confidential

Ln #	Award (Y/N)	Reason Item Description	Quantity U			Extended Price	
	Y	Spalding Womens 28.5 Platinum E TF1000, no subs district game ball	asketballs 150 E	A	46.50	6,975.00	PYRAMID SCHOOL PRODUCTS
				_	47.00	7,050.00	AMERICA TEAM SPORTS
				F	53.88	8,082.00	*BARCELONA SPORTING GOODS VARSITY BRANDS HOLDINGS CO IN(
	Y	Spalding Men's Platinum Basketba	I , TF1000, no 165 E	A	62.05 46.50	,	THE PROPHET CORP PYRAMID SCHOOL PRODUCTS
		subs district dame ball			47.00	7,755.00	AMERICA TEAM SPORTS
				F	50.00	0.000.00	*BARCELONA SPORTING GOODS VARSITY BRANDS HOLDINGS CO IN
					53.88	8,890.20	VARSITY BRANDS HOLDINGS CO IN
	Y	Nike Zoom Rize TB Basketball Sho	bes #BQ5468 or 30 P	P	62.05	10,238.25	THE PROPHET CORP *BARCELONA SPORTING GOODS
	I	approved equal, color & sizes to fo					BARCELONA SPORTING GOODS
					86.00	2,580.00	VARSITY BRANDS HOLDINGS CO IN
	Y	Nike Zoom Rev TB Men' Basketba 001 or approved equal - black with Sizes to follow when order is place	white swoosh	R	86.00	1,290.00	VARSITY BRANDS HOLDINGS CO IN
	Y	Nike Mens Hyper Dunk X Basketba or approved equal, color & sizes to is placed		R	86.00	1,290.00	VARSITY BRANDS HOLDINGS CO IN
i	Y	Nike Air Zoom Pegasus 35TB Sho equal, color & sizes to follow when		R			*BARCELONA SPORTING GOODS
					77.50	387.50	VARSITY BRANDS HOLDINGS CO IN
	Y	Nike Men's Air Pegasus Shoes #88 equal, color & sizes to follow when		R			*BARCELONA SPORTING GOODS
					77.50	387.50	VARSITY BRANDS HOLDINGS CO IN
	Y	Nike Mamba #TB-AT1214 Baskett approved equal, color & sizes to fo placed		R			*BARCELONA SPORTING GOODS
					62.50	1,125.00	VARSITY BRANDS HOLDINGS CO IN
	Y	Nike Womens Air Pegasus Shoes approved equal, color & sizes to fo		R			*BARCELONA SPORTING GOODS
		nlaced			77.50	310.00	VARSITY BRANDS HOLDINGS CO IN
0	Y	Nike Flynit Shoes or approved equ follow when order is placed	al, color & sizes to 5 P	R	74.25	371.25	VARSITY BRANDS HOLDINGS CO IN
1	Y	Nike Brasilia Large Duffle Bag #BA ins, color to follow when order is pla		A	30.25	90.75	VARSITY BRANDS HOLDINGS CO IN
2	Y	Nike Women's Rivalry Warm-up Ja Pants #822532, with three color log lettering on pant, color & sizes to fo	jo on jacket no	т			*BARCELONA SPORTING GOODS
		nlaced			85.00	1,275.00	VARSITY BRANDS HOLDINGS CO IN
3	Y	Nike Women's Rivalry Warm-up #8 pants #802334, with three color log & sizes to follow when order is plac	jo on jacket, color	Т			*BARCELONA SPORTING GOODS
					85.00	255.00	VARSITY BRANDS HOLDINGS CO IN
4	Y	Nike Men's Rivalry Warm-up Jacke approved equal, jacket with two co jacket, color & sizes to follow when	lor lettering on	T			*BARCELONA SPORTING GOODS

1	A	Deserve	Item Description	O		Drive	Eutopala d Drica	Quera l'e a
Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	85.00	Extended Price 340.00	
15	Y		Nike Dry Woven Warm-up Jacket #897205 & pants #897038 or approved equal, jacket with one color embroidery, color & sizes to follow when order is placed	15	ST			*BARCELONA SPORTING GOODS
						87.00	1,305.00	VARSITY BRANDS HOLDINGS CO INC
16	Y		Nike Shield Heavyweight Jacket #A05970 or approved equal, color & sizes to follow when order is placed	4	EA	118.00	472.00	VARSITY BRANDS HOLDINGS CO INC
17	Y		Nike Men's Reversible Basketball Practice Jersey #AA0081, no subs fill-ins, one color lettering & numbers on both sides, color, numbers & sizes to follow when order is placed	15	ST			*BARCELONA SPORTING GOODS
						61.00	915.00	VARSITY BRANDS HOLDINGS CO INC
18	Y		Nike Men's Reversible Practice Shorts #AA0083, no subs fill-ins, one color lettering on left leg, color & sizes to follow when order is placed	15	ST			*BARCELONA SPORTING GOODS
						49.50	742.50	VARSITY BRANDS HOLDINGS CO INC
19	Y		Nike Women's Reversible Jerseys #868021 & short #868024, no subs fill-ins, with two color lettering & numbers on top & shorts, color & sizes to follow when		ST			*BARCELONA SPORTING GOODS
			order is placed			92.00	1,380.00	VARSITY BRANDS HOLDINGS CO INC
20	Y		Nike Men's Team Jordan Reverisble Practice Jersey #AR4317 & Team Stock Short #AR4321, no subs fill- ins, with one color lettering on front & numbers on back #44 design on top, color & sizes to follow when		ST			*BARCELONA SPORTING GOODS
			order is placed			70.00	1,050.00	VARSITY BRANDS HOLDINGS CO INC
21	Y		Nike New Long Sleeve Mesh Shooter Shirt #CCJ4766, no subs fill-ins, with one color lettering, color & sizes to follow when order is placed	15	EA			*BARCELONA SPORTING GOODS
						34.00	510.00	VARSITY BRANDS HOLDINGS CO INC
22	Y		Nike Women's Long Sleeve Top, no subs fill-ins, with two color lettering, color & sizes to follow when order is placed	40	EA			*BARCELONA SPORTING GOODS
						36.00	1,440.00	VARSITY BRANDS HOLDINGS CO INC
23	Y		Nike Men's Team Legend Long Sleeve Crew Top #727980, no subs fill-ins, with two color lettering #44 design, color & sizes to follow when order is placed	20	EA			*BARCELONA SPORTING GOODS
						25.00	500.00	VARSITY BRANDS HOLDINGS CO INC
24	Y		Nike Women's Legend Veneer Long Sleeve Hoodie with two lettering, no subs fill-ins, color & sizes to follow when order is placed	5	EA	31.00	155.00	VARSITY BRANDS HOLDINGS CO INC
25	Y		Nike Spotlight Short Sleeve Pullover Hoodie with two color lettering, no subs fill-ins, color & sizes to follow when order is placed	15	EA			*BARCELONA SPORTING GOODS
						36.75	551.25	VARSITY BRANDS HOLDINGS CO INC
26	Y		Nike Long Sleeve Shooter Shirt #453182 with two color screen print, no subs fill-ins, color & sizes to follow when order is placed	20	EA			*BARCELONA SPORTING GOODS
						25.00	500.00	VARSITY BRANDS HOLDINGS CO INC
27	Y		Nike Jordan Alpha Compression Tank #AO9214 no subs - fill-ins, color & sizes to follow when order is placed	30	EA			*BARCELONA SPORTING GOODS
						17.50	525.00	VARSITY BRANDS HOLDINGS CO INC
28	Y		Nike SS Team Polo #908414 no subs fill-ins, with two color embroidery, color & sizes to follow when order is placed		EA			*BARCELONA SPORTING GOODS
					07	32.25	161.25	VARSITY BRANDS HOLDINGS CO INC
29	Y		Nike Show Time Hoody or approved equal #930561 Royal blue with two color monogram	30	ST	61.00	1,830.00	*BARCELONA SPORTING GOODS VARSITY BRANDS HOLDINGS CO INC

<u>Ln #</u> 30	Award (Y/N) Y	Reason Item Description Nike Women's Elite Jersey #868026 & short #868028, or approved equal with two color lettering & numbers on jerseys & GISD Logo, lettering on shorts color & sizes to follow when order is placed		Price	Extended Price	Supplier *BARCELONA SPORTING GOODS
				96.00	2,880.00	VARSITY BRANDS HOLDINGS CO INC
31	Y	Nike Women's Hyperlite Playmaker Jersey #AA0078 & Short #AA0080, or approved equal with two color lettering & numbers, GISD Logo, color & sizes to follow when order is placed	30 ST			*BARCELONA SPORTING GOODS
				105.00	3,150.00	VARSITY BRANDS HOLDINGS CO INC
32	Y	Nike Women's Jordan Ultimate Flight Digital Jersey #NSPCUSTOM & Shorts #NSPCUSTOM, or approved equal, with two color lettering & numbers & GISD Logo, color & sizes to follow when order is placed	30 ST	180.00	5,400.00	*BARCELONA SPORTING GOODS
33	Y	Nike Men's Hyperlite Playmaker Jersey #AV2071 &	30 ST			*BARCELONA SPORTING GOODS
		Short #AV2077, with two color lettring & numbers & GISD Logo, colors & sizes to follow when order is placed				
				105.00	3,150.00	VARSITY BRANDS HOLDINGS CO INC
34	Y	Nike Men's Polo, no subs fill-ins, with two color lettering on left chest, color & sizes to follow when order is placed	4 EA			*BARCELONA SPORTING GOODS
				32.25		VARSITY BRANDS HOLDINGS CO INC
35	Y	Nike Dry Showtime Hoodie FZ #930725 & Pant #930767 no subs fill-ins, two color lettering on hoodie color & sizes to follow when order is placed	15 ST	101.50	1,522.50	VARSITY BRANDS HOLDINGS CO INC
36	Y	Nike Backpacks, XL #BA5892, no subs fill-ins, one color lettering & number, color & number to follow when order is placed	15 EA	39.50	592.50	*BARCELONA SPORTING GOODS VARSITY BRANDS HOLDINGS CO INC
37	Y	Adidas Stadium II Backpack, no subs fill-ins, two colo lettering & numbers, color, lettering & numbers to follow when order is placed	r 15 EA	42.00	630.00	AMERICA TEAM SPORTS
38	Y	Adidas Harden B/E 3 Basketball Shoes #G26149, or approved equal, color & sizes to follow when order is placed	15 PR	52.75	791.25	AMERICA TEAM SPORTS
39	Y	Adidas 5-Star Team Backpack #5146916, no subs fill ins, with three color lettering & logo, color & lettering to follow when order is placed	- 15 EA	47.00	705.00	AMERICA TEAM SPORTS
40	Y	Adidas Custom Jersey #ADO03051M Sublimatd & Shorts #ADO03051PA, with two color lettering, numbers & GISD Logo, no subs fill-ins, color, lettering & sizes to follow when order is placed	30 ST	104.00	3,120.00	AMERICA TEAM SPORTS
41	Y	Adidas Women's Custom Bulldog Jersey #AD03044W & Shorts #AD03045W, with one color lettering, numbers & GISD Logo, - no subs fill-ins, color, lettering & sizes to follow when order is placed	30 ST	104.00	3,120.00	AMERICA TEAM SPORTS
42	Y	Adidas Womens 3G Speed Reversible Jersey #141HOXW & Shorts #141GOXW, no subs fill-ins, with one color lettering, numbers & GISD Logo, color, lettering & sizes to follow when order is placed	30 ST	46.00	1,380.00	AMERICA TEAM SPORTS
43	Y	Adidas Women's Mianthem 1/4 Zip #AP0640 no subs fill-ins, with two color lettering on back & logo on front color & sizes to follow when order is placed		55.00	825.00	AMERICA TEAM SPORTS
44	Y	Adidas MiAnthem ¼ Zip Long Sleeve Shooter Shirts #AP0640 48F0, maroon with white & gray trim With three color RHS"Logo on pocket area ROWLETT" across back with number at neck, no subs fill-ins	15 EA	55.00	825.00	AMERICA TEAM SPORTS
45	Y	Adidas MiFuture Star ¼ Zip Top #S11336 Pant #AA2392, no subs fill-ins, royal/gold with two color logo Left chest LAKEVIEW"back shoulders Logo on left leg & number below Adidas Logo on right leg Sizes to follow when order is placed	20 SET	71.50	1,430.00	AMERICA TEAM SPORTS

Ln #	Award (Y/N)	Reason	Item Description	Quantity U	ЮМ	Price E	xtended Price	Supplier
46	Y		Adidas Reversible Jersey #296JCY1 Shorts #359BCY1, no subs fill-ins, white/royal with two color lettering & numbers on each side of jersey & short	30 S	ET	52.95	1,588.50	AMERICA TEAM SPORTS
47	Y		Sizes to follow when order is placed Adidas Team Amplifier Short Sleeve Shirts #12HLLM6, no subs fill-ins, with two color lettering & numbers, color, lettering & numbers to follow when	135 E	A	10.75	1,451.25	AMERICA TEAM SPORTS
48	Y		order is placed Adidas Climalite Top #2946, no subs fill-ins, with three	40 E	A	19.95	798.00	AMERICA TEAM SPORTS
49	Y		lettering Adidas Practice Jersey #BR8296 & Short #BR8299, no subs fill-ins, with two color sublimated lettering, numbers & logos, color, numbers & sizes to follow when order is placed	15 S	ET	75.00	1,125.00	AMERICA TEAM SPORTS
50	Y		Adidas Alphaskin Bras #881T-005 or approved equal, color & sizes to follow when order is placed	20 E	A	15.00	300.00	AMERICA TEAM SPORTS
51	Υ		Adidas Alphaskin Padded Tank Top #12MCWSL no subs fill-ins, color & sizes to follow when order is placed	15 E	A	36.00	540.00	AMERICA TEAM SPORTS
52	Y	4NS	2019-2020 Basketball Rulebooks	40 E	A	5.15 11.75		RIDDELL ALL AMERICAN AMERICA TEAM SPORTS
50	Y		Mark V/ Deskethall Constant asks at an annual articl	10 5		4.05	101.40	*BARCELONA SPORTING GOODS
53	Y		Mark V Basketball Scorebooks or approved equal	48 E	A	4.05 4.29		PYRAMID SCHOOL PRODUCTS VARSITY BRANDS HOLDINGS CO INC
						4.50	216.00	AMERICA TEAM SPORTS *BARCELONA SPORTING GOODS
						6.14	294.72	SCHOOL SPECIALTY INC
54	Y		Bison Heavy Duty Anti-White Basketball Net or approved equal #BA51H	24 E	A	2.93	70.32	VARSITY BRANDS HOLDINGS CO INC
			approved equal #BASTH			8.00	192.00	AMERICA TEAM SPORTS
								*BARCELONA SPORTING GOODS
55	Y		Laundry Clips, or approved equal, color to follow	30 E	A	13.50	324.00	PYRAMID SCHOOL PRODUCTS *BARCELONA SPORTING GOODS
			when order is placed			2.40	72.00	AMERICA TEAM SPORTS
56	Y		Alleson Reversible Mesh Practice Jersey or approved equal, with two color lettering & numbers, color & sizes to follow when order is placed	15 E	A	15.00		AMERICA TEAM SPORTS
								*BARCELONA SPORTING GOODS
						22.90	343.50	VARSITY BRANDS HOLDINGS CO INC
						25.75	386.25	RIDDELL ALL AMERICAN
57	Y		Alleson Reversible Mesh Practice Shorts or approved equal with two color lettering & numbers, color & sizes	15 P	'R	10.25	153.75	*ITS GREEK TO ME VARSITY BRANDS HOLDINGS CO INC
			to follow when order is placed			11.00	165.00	AMERICA TEAM SPORTS *BARCELONA SPORTING GOODS
					F	32.75	491.25	RIDDELL ALL AMERICAN
58		4NS	Girls Baden Basketballs #301 or approved equal	48 E	A	13.47		VARSITY BRANDS HOLDINGS CO INC
					-	13.50 14.59		PYRAMID SCHOOL PRODUCTS SCHOOL SPECIALTY INC
					-	14.59		AMERICA TEAM SPORTS
50		4NC	Roya Rodan Rockethalls #204 or approved aqual	40 5				*BARCELONA SPORTING GOODS VARSITY BRANDS HOLDINGS CO INC
59		4NS	Boys Baden Basketballs #301 or approved equal	48 E	A	13.48	047.04	VARSITT BRAINDS HOLDINGS CO INC
	Y				-	13.50		PYRAMID SCHOOL PRODUCTS
					-	14.59 18.70		SCHOOL SPECIALTY INC AMERICA TEAM SPORTS
					F	10.70	037.00	*BARCELONA SPORTING GOODS
60	Y		Adidas Alphaskin Max Cushioned Crew Socks #514708, or approved equal, color & sizes to follow	30 P	R	10.00	300.00	AMERICA TEAM SPORTS
61	Y		when order is placed Adidas Alphaskin 7" Short Tight #12EC005, no subs fill-ins, color & sizes to follow when order is placed	15 P	R	16.25	243.75	AMERICA TEAM SPORTS
62	Y		Korney Board Infinity Weighted Vest #13240-10 or approved equal, black	1 E	A	24.98	24.98	VARSITY BRANDS HOLDINGS CO INC
						89.00	89.00	AMERICA TEAM SPORTS *BARCELONA SPORTING GOODS
1						93.28		RIDDELL ALL AMERICAN
			Korney Board Speed Jump Ropes 9' #PVBB, or	15 E		152.95 7.00		SCHOOL SPECIALTY INC AMERICA TEAM SPORTS
63	Y			15 E		7.00	100100	
63	Y		approved equal			8.76		*BARCELONA SPORTING GOODS VARSITY BRANDS HOLDINGS CO INC

Chris Talbot participated and concurs with this recommendation. The District solicited 375 vendors and received 8 responses RFP# 158-20 Basketball Uniforms and Equipment

1	Award (Y/N)	Deeser	Item Description	0	M Dries	Extended Price	Currling
Ln # 64	Award (Y/N) Y	Reason	Korney Board Playmaker Basketball White Dry Erase	Quantity UO 1 EA	17.00		AMERICA TEAM SPORTS
			Board or approved equal				
					30.98	30.98	*BARCELONA SPORTING GOODS VARSITY BRANDS HOLDINGS CO INC
05	Y		Karnay Roard Dry Frage Markers, or approved agual	, 4 EA	2.00	12.00	AMERICA TEAM SPORTS
65	ř		Korney Board Dry Erase Markers, or approved equal colors to follow when order is placed	, 4 EA	3.00	12.00	AMERICA TEAM SPORTS
					3.16	12.64	VARSITY BRANDS HOLDINGS CO INC
							*BARCELONA SPORTING GOODS
66	Y		Korney Board Pure Shot #PS-L, left	3 EA	44.00	44.04	*BARCELONA SPORTING GOODS VARSITY BRANDS HOLDINGS CO INC
					14.98	44.94	VARSITT BRANDS HOLDINGS CO INC
67	Y		Korney Board Pure Shot #PS-R, right	3 EA	15.00	45.00	AMERICA TEAM SPORTS *BARCELONA SPORTING GOODS
07	1		Komey Board Fulle Shot #FS-N, fight	5 EA	14.98	44.94	VARSITY BRANDS HOLDINGS CO INC
					15.00	45.00	AMERICA TEAM SPORTS
68	Y		Champion 9' Licorice Jump Ropes #SPR9 or	6 EA	0.98		PYRAMID SCHOOL PRODUCTS
			approved equal		0.00	5.04	VARSITY BRANDS HOLDINGS CO INC
					0.99	5.54	VARSITT BRAINDS HOLDINGS CO INC
					1.57	9.42	SCHOOL SPECIALTY INC *BARCELONA SPORTING GOODS
					2.00	12.00	AMERICA TEAM SPORTS
69	Y		Champion 10'Licorice Speed Jump Rope #SPR10 of approved equal	26 EA	1.03	26.78	PYRAMID SCHOOL PRODUCTS
					1.09	28.34	VARSITY BRANDS HOLDINGS CO INC
					4.00	43.68	SCHOOL SPECIALTY INC
					1.68	43.00	*BARCELONA SPORTING GOODS
70			50/50 Short Sleeve T-shirts, two color lettering on	60 EA	2.50		AMERICA TEAM SPORTS RIDDELL ALL AMERICAN
70	Y		front & back or approved equal, color, lettering &	60 EA	5.30	318.00	
			sizes to follow when order is placed				*BARCELONA SPORTING GOODS
					8.95	537.00	
					10.70	642.00	VARSITY BRANDS HOLDINGS CO INC
					-		*ITS GREEK TO ME
71	Y		Alleson 7" dry fit short #5067P or approved equal with	h 20 PR	7.50	150.00	AMERICA TEAM SPORTS
			one color lettering & number on left leg, color, lettering & numbers to follow when order is placed				
					11.50	230.00	VARSITY BRANDS HOLDINGS CO INC
72	Y		Alleson Women's Mesh Reversible Jersey #560RW	20 EA			*BARCELONA SPORTING GOODS
			or approved equal with one color lettering & number, color, lettering, numbers & sizes to follow when order				
			is placed			_	
					20.00 20.75		AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO INC
					20.75	410.00	
73	Y		Adidas 3G Speed Reversible Jersey #141HLMW, no	45 EA	30.00	1 350 00	*ITS GREEK TO ME AMERICA TEAM SPORTS
15			subs - fill-ins, with one color lettering, GISD Logo &	40 EA	30.00	1,000.00	
			numbers, color, lettering, numbers & sizes to follow when order is placed				
74	Y		Adidas 3G Speed Shorts #141G, no subs fill-ins,	15 EA	16.00	240.00	AMERICA TEAM SPORTS
75	Y		color & sizes to follow when order is placed Adidas Harden Volume 4 Shoe #E2410, or approved	15 PR	70.30	1.054.50	AMERICA TEAM SPORTS
			equal, color & sizes when order is placed				
76	Y		Adidas 1/4 Zip #AD03047M, no subs fill-ins, with 2	15 EA	42.95	644.25	AMERICA TEAM SPORTS
			1/2" three color"R" logo embroidered & two color				
			lettering, color & sizes tof follow when order is placed				
77	Y		Adidas Training Hoodie #12GE29G no subs fill-ins, 2		36.00	540.00	AMERICA TEAM SPORTS
			1/2" "R" logo three color & two color lettering, color & sizes to follow when order is placed				
78	Y		Adidas Squad Full Zip #798FLMW & Pant	15 ST	76.95	1,154.25	AMERICA TEAM SPORTS
			#536BLMW no subs fill-ins with three color "R" logo embroidered on top & left leg, color & sizes to follow				
			when order is placed				
79	Y		Adidas Creator Tee #12GMLM, no subs fill-ins - three color lettering on front & two color lettering on back,	e 40 EA	18.00	720.00	AMERICA TEAM SPORTS
			color, lettering & sizes to follow when order is placed				

Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Price	Extended Price	Supplier
80	Ý		Jerzee Top #996M with three color logo & one color 4" number screen print, no subs fill-ins, color, lettering & sizes to follow when order is placed	15	EA	17.00		AMERICA TEAM SPORTS
						26.75	401.25	VARSITY BRANDS HOLDINGS CO INC
81	Y		Adidas Cross-UP 365 Full Zip Hoodie #DX6671 & Pant #DX6681, no subs fill-ins, three color school logo on right chest no lettering on pant, color, lettering & sizes to follow when order is placed		ST	67.00	1,005.00	AMERICA TEAM SPORTS
82	Y		Adidas Clima Tech Tee #123R no subs fill-ins, with two color lettering front & back, color, lettering & sizes to follow when order is placed	75	EA	13.95	1,046.25	AMERICA TEAM SPORTS
83	Y		Adidas Essentials 3 Jacket #BR1024 & Pant #BK7402 no subs - fill-ins with two color lettering on jacket, color & sizes to follow when order is placed	10	ST	60.00	600.00	AMERICA TEAM SPORTS
84	Y		50/50 short sleeve t-shirts with one color lettering, color, lettering & sizes to follow when order is placed	50	EA	5.00	250.00	AMERICA TEAM SPORTS
						5.00		RIDDELL ALL AMERICAN
								*BARCELONA SPORTING GOODS
						6.90	345.00	VARSITY BRANDS HOLDINGS CO INC
					-			*ITS GREEK TO ME
85	Y		SKLZ D-Man Basketball Defensive Mannequin #DMBK-000-02 or approved equal	4	EA	43.96	175.84	VARSITY BRANDS HOLDINGS CO INC
						45.00	180.00	AMERICA TEAM SPORTS
86	Y		Russell Hooded Sweatshirt #695HBM & Open Bottom Pant #596HBM with two color lettering on top & pant, 9.3 oz, 50/50 moisture management or approved equal, color, lettering & sizes to follow when order is placed		ST			BARCELONA SPORTING GOODS
						37.95	1,138.50	AMERICA TEAM SPORTS
								*ITS GREEK TO ME
						39.85	1,195.50	VARSITY BRANDS HOLDINGS CO INC
87	Y		Badger C2 Fleece Hoody #5500 or approved equal with two color lettering, color, lettering & sizes to follow when order is placed	15	EA	17.00	255.00	RIDDELL ALL AMERICAN
						17.95	269.25	AMERICA TEAM SPORTS
								*ITS GREEK TO ME
						22.90	343.50	VARSITY BRANDS HOLDINGS CO INC
88		NBV	Short Sleeve T-Shirt, 50/50 with two color lettering on front, color, lettering & sizes to follow when order is placed	50	EA	5.30	265.00	RIDDELL ALL AMERICAN
	Y							*BARCELONA SPORTING GOODS
						6.00		
						7.90	395.00	VARSITY BRANDS HOLDINGS CO INC
								*ITS GREEK TO ME